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EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 601 - In the following question, select the related word pair from the given alternatives.

Options:

1) Bus : Vehicle
9 9l

2) Car: Road
TR HSH

3) Ship : Sea
SiGre [ HIR

4) Train : Rail
TS ued

Correct Answer: Bus : Vehicle
= 1 ged

Candidate Answer: Bus : Vehicle
= 49l

QID : 602 - In the following question, select the related word from the aiven alternatives.
Big: Small : : Solid : ?
PfefEe uad Ry mo fAeed 4 9 9dida = &t gl

s B o 1
Options:
1) Metal

&g

2) Liquid
e

3) Smoke
gamm

4) Cold

GEl

Correct Answer: Liquid
GG

Candidate Answer: Liquid
el

QID : 603 - In the following question, select the related word from the given alternatives.
Calculator : Calculations : : Scale : ?

FmfafEs nad e mo G | € geit 2= 5 g
SRR : MO : - et 7

Options:

1) Inches

&=

2) Centimeters

3) Measure
AT

4) Steel
e

Correct Answer: Measure
AT
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Candidate Answer: Measure
AT

QID : 604 - In the following question, select the related letters from the given alternatives.
MUFT : PXIW :: GONE : ?
i na d Ry o e & @ Jefa s &t 9w

MUFT : PXIW : : GONE: ?

Options:
1) HMRL

2) JSPA
3) JRQH

4) HQRF
Correct Answer: JRQH
Candidate Answer: [ NOT ANSWERED |

QID : 605 - In the following question, select the related letters from the given alternatives.
PINK : TMRO :: SOLD : ?
Frfeiea na d e o reed & § Jefia serd &t g

PINK:TMRO :: SOLD : ?

Options:
1) HQTX

2) WSPH
3) HAQV

4) AQBH
Correct Answer: WSPH
Candidate Answer: [ NOT ANSWERED |

QID : 606 - In the following question, select the related letters from the given alternatives.
SW:VA::LT:?

FrfeiaEE ua d Ry m e & 9§ Jefa s & g

SW:VA::LT:?

Options:

1) NY

2) LA

3) OX

4) OL
Correct Answer: OX
Candidate Answer: | NOT ANSWERED |

QID : 607 - In the following question, seiect the related number pair from the given alternatives.
19:363::7:7

Frfeiaa na o Ry my freedi | o it wem g g

19:363::7:7

Options:

1) 16 : 259

2)13:171

3)14:199

4) 14 :195
Correct Answer: 13 : 171
Candidate Answer: [ NOT ANSWERED |
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QID : 608 - In the following question, select the related number from the given alternatives.
42:105::38:7
i na d R e Reed # @ S=iia e @ g

42:105::38:7

Options:
1) 111

2) 135
3)95

4) 83
Correct Answer: 95
Candidate Answer: [ NOT ANSWERED |

QID : 609 - In the following question, select the related number from the given alternatives.
24:39::49:7
P na # Ry e e 7 & S6fia @en @ g

24:39::49:7
Options:
1) 68

2) 64
3) 69

4 79
Correct Answer: 64
Candidate Answer: 64

QID : 610 - In the following question, select the odd word from the given alternatives.

et nad Ry e e d 9 ffom a= & gk
Options:

1) Liver

Tehd

2) Intestine

iG]
3) Organ

anT
4) Lungs
hRE

Correct Answer: Organ
3T

Candidate Answer: Organ
3T

QID : 611 - In the following question, select the odd word from the given alternatives.

i na # R me e 7 9 e o= = gim)

Options:
1) Black
hIEl

%ellow

3) Rainbow

Uy

4) Pink

TATE

Correct Answer: Rainbow
g

Candidate Answer: Black
STl

QID : 612 - In the following question, select the odd word from the given alternatives.

Fraferi@ra na # Ry e e # 9 fwm a= =t 9w
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Options:
1) Arteries
At

2) Veins
-
3) Hand
Gl
4) Bones

Correct Answer: Hand

By

Candidate Answer: Arteries
et

QID : 613 - In the following question, select the odd letters from the given alternatives.

i na ¥ e o feed d§ 9 fAem sreri o g

Options:

1) RLF

2) MGA

3) EYR

4) HBV

Correct Answer: EYR

Candidate Answer: [ NOT ANSWERED |

QID : 614 - In the following question, select the odd letters from the given alternatives.

Frfeiaa na o g o el & 9 fem srami &t gim)
Options:

1) IR

2) KP

3) GT

4) OV

Correct Answer: OV

Candidate Answer: OV

QID : 615 - In the following question, select the odd letters from the given alternatives.

Frfeiee na# Ry o fEeed A & B stari ot g
Options:

1) XTQMJ

2) FBYUR

3) GCZVS

4) TPMIE

Correct Answer: TPMIE
Candidate Answer: [ NOT ANSWERED |

QID : 616 - In the following question, select the odd number from the given alternatives.

FmfafEe na ¥ g mo feed § 9 fRem den w1 gfl
Options:

1H4-21

2)7-54

36-41

4)3-16

Correct Answer: 3 - 16

Candidate Answer: [ NOT ANSWERED |

QID : 617 - In the following questicn, select the odd number pair from the given alternatives.

FPrfaiEe nad R me RBreve # 2 faww @ g &t gihu)
Options:

)11 -17

2)23 - 31

3) 43 - 50

4) 4 - 47

Correct Answer: 43 — 59

Candidate Answer: [ NOT ANSWERED |

QID : 618 - In the following question, select the odd number pair from the given alternatives.

Frfeiaa uad e e et & 9 o g g &t gl
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Options:

1) 12 - 156

2)13-182

3)14-210

4) 15 - 230

Correct Answer: 15 — 230

Candidate Answer: [ NOT ANSWERED |

QID : 619 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder

Frefefera areel =i sreent & 3 aret & & AR ford)

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder

Options:
1) 23145

2) 32145
3) 14523

4) 41523
Correct Answer: 32145
Candidate Answer: [ NOT ANSWERED |

QID : 620 - According to dictionary, which of the following word will come at LAST position?

1. Operation
2 Orderly
3. Openly

4. Opulent
5. Oral

EEER Y & SRy, Aefefem § & o a1 usg sifem e W amdm?

1. Operation
2 Orderly
3. Openly

4. Opulent
5. Oral

Options:
1) Oral

2) Orderly
3) Opulent

4) Operation
Correct Answer: Orderly
Candidate Answer: [ NOT ANSWERED |

QID : 621 - From the given alternatives, according to dictionary, which word will come at THIRD position?

fow o fereredl & &, aregeian & HETE, T 41 2TeE H1ER W UR ST

Options:
1) Passage

2) Pastime
3) Patience

4) Pathetic
Correct Answer: Pathetic
Candidate Answer: Pathetic
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QID : 622 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AGM, FLR, KQW, PVB, ?

U A T man &, o @ ves ug @ 81 Ry e et A 9 98 9 e g, S e i m aR

AGM, FLR, KQW, PVB, ?

Options:

1) UAG

2) VLC

3) CGN

4) PNO

Correct Answer: UAG

Candidate Answer: UAG

QID : 623 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FROM, CNLI, ZJIE, WFFA, ?

e SieRH T man &, Tod € e ue g 1 Ry 71y frenedi A & g wel e gffg, S sraee & g Rl

FROM, CNLI, ZJIE, WFFA, ?

Options:
1) ACNG

2) TCCX
3) TBCW

4) FRIP

Correct Answer: TBCW

Candidate Answer: [ NOT ANSWERED |

QID : 624 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
TRO, PNK, LJG, ?, DBY

Ue eRH T man &, O 9 uws g W 81 Ry e et A 9 9y vl B g, e @l g s

TRO, PNK, LJG, 7, DBY

Options:
1) FBC

2) FNB
3) RN

4) HFC
Correct Answer: HFC
Candidate Answer: [ NOT ANSWERED |

QID : 625 - In the following question, select the missing number from the given series.
11, 16,21, 13,19, 25, 15, 22, 29, 2, 25

FmfafEe oa ¥ g mo feed J§ 9 o a5 aa e

11,16,21,13,19, 25,15,22, 29,7, 25

Options:
1) 18

4 21
Correct Answer: 1/
Candidate Answer: [ NOT ANSWERED |

QID : 626 - In the following question, select the missing number from the given series.
2112, 2328, 2671, 3183, 2, 4912
FmfafEe na ¥ Ry mu e 3§ @ g s 7= fifse)
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Options:
1) 3826

2) 3742
3) 3912

4) 3992
Correct Answer: 3912
Candidate Answer: [ NOT ANSWERED |

QID : 627 - In the following question, select the missing number from the given series.
21,22,34.5,71, 180, 543, 7
Frefefes nad e mo fFeed § 9 g s 79 S

21,22,34.5,71, 180,543, ?
Options:
1) 1864
2) 2234
3) 2336

4) 1904
Correct Answer: 1904
Candidate Answer: [ NOT ANSWERED |

QID: 628 - M is 2 years older than P. L is 2 years older than 0. O's age is the average of the ages of L and N, P's age is the average of the ages of Land M and Ls age is
the average of P and 0. Who is the youngest?

M PI2FE T L, O T 2T a1 &1 O 1 g L 3R N &t amg &1 offad &, ofR P 1 amg L oftz M i e =1 2fiea & ofik L it amg P ok O &1 amg &1 ofiwa &1 9= s &
44

Options:

1L

2l M

3N

40

Correct Answer: N

Candidate Answer: [ NOT ANSWERED |

QID : 629 - X said to Y that your mother's father-in-law’s wife is mother-ir-law of my father. How are X and Y related?

XY ¥ gt ok grerd Al & o 1 ot R e f ' g1 X ok Y U e O & Heina &7

Options:

1) Xis sister's husband of Y

X Y& ag Hufr §

2) Xis child of ¥'s father's sister
X, Y & foren & g7 e 8

3) Y is father's brother of X

Y, X & O & ad &

4) Y is sister's husband of X

Y X HiaggaFufa g

Correct Answer: X is child of Y's father's sister
XYdRaHragramaeag

Candidate Answer: [ NOT ANSWERED |

QID : 630 - From the given alternative words select the word which cannot be formed using the letters of the given word.
GEOGRAPHIC

Frferiera Reredi A § @8 areg 9w Sl 5T Y 21eg 3 S18RT = TE e A6 S o Ha:

GEOGRAPHIC

Options:
1) cheap

2) rogue
3) price

4) graph
Correct Answer: rogue
Candidate Answer: rogue
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QID: 631 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

af& BANQUET @i g & ZYLOSCR feran sran & of NEW &t i & &4 foren smem?
Options:

1) MVD

2) MDV

3) LCU

4) OFX
Correct Answer: LCU
Candidate Answer: [ NOT ANSWERED |

QID : 632 - In a certain code language, 9124 means 'run around the block’, 2548 means 'don't block the path' and 4763 means ‘chock a block full’. Find the code for
‘the'.

foreft ffaya arvg v & 9124 @1 3 @ 'run around the block!, 2548 @1 312 & 'don't block the path' 3fiR 4763 &7 3% & ‘chock 2 block fullt ‘the' % fa @re 719 &)

Options:
71

2)9
32

4) 4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED |

QID : 633 - In a certain code language, '+' represents -, - represents 'x, 'x' represents '+ and +' represents '+. Find out the answer to the following question.
90 x10+25-5+50=7
et P e v A '+, - FlweERia ward, &, ) Y Ui e &, ') ' o URiRi e § ol s '+ R naia ot 8| el o W s

90 x10+25-5+50="7

Options:

1) 81

2) 84

3) 100

4) 48

Correct Answer: 84

Candidate Answer: [ NOT ANSWERED |

QID:634-1f11@7=218@0=%and 22 @ 20 = 1, then find the value of 16 @ 10 =?

A1 @7=2,18@0=93R22@20=1,a16 @ 10 = ? HIHH Id &’
Options:

16

2) 160

3) 26

43

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED |

QID: 635 - If A* B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C*D % E + F mean?

aEA*BRATEFA Bwfag A+BR e A BRIGEI g iR aRR A% BF e F A BRITHEANC*D % E+ FamTarm anef &7
Options:

1) Cis F's husband

C Fwufag

2) Cis F's wife's brother

C, F&i usfl s wrg &

3) Cis father of F

CFwftag

4) Cis F's sister's husband

C FHiggrgufg

Correct Answer: C Is F's sister's husband
C FHi agTH ufad

Candidate Answer: | NOT ANSWERED |
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QID : 636 -

Select the missing number from the given responses

ey et & & gF wer g

3 10 2

17 19 10

Options:
7)1

2)9
3) 1

4) 9
Correct Answer: 9
Candidate Answer: 9

QID : 637 - Which of the following terms follows the trend of the given list?
CABABABAB, ACBEABABAB, ABCABABAB, ABACBEABAB, ABABCABAB,

RreifoirRa & & @ a1 ue & el e 3 e & R B2

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Options:

1) ABABABACB

2) ABABABCAB

3) ABABACBAB

4) ABABABABC

Correct Answer: ABABACBAB

Candidate Answer: [ NOT ANSWERED |

QID : 638 - A ship starts from the port and sails 43 miles East, then it turns South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right and
sails 17 miles. Where is it with respect to the port from where it started?

T STETST UTE & a1 MR 3R & 3R Oef ohi iz 43 Hie =erer 51 fhe ag afamT & ofit ggan & i 17 e 9wt €1 ke g uffm & ofi gga 25 Hiet Iea & ofiR it a1fRh oz
e 17 die Toa &1 o9 ot § 39 Sigret 3 e uRy fBhan o1 393 o og o et gt R d?
Options:

1) 18 miles West

18 Hiet

2) 68 miles East

68 il g

3) 18 miles East

18 Hiel g

4) 68 miles West

68 Hiat

Correct Answer: 18 miles East
18 #iet g

Candidate Answer: [ NOT ANSWERED |

QID : 639 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South,
then flies 11 miles East, then turns to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

g1 i U &t (u & wern TR @< &1 W P 15 Hie ufgm 6 ofk ggar & o iR a1 ofik geaw 22 i 389 & o918 die ol & | 33 990G Wi Q, 7 Hie aféior 61 ok Igan & o= fiR
11 e od i 3R sgar & aun o oY 2 ot geee 15 e 3= & A dg ol 8 1 @ P gy & wiv Q &gl 27

Options:

1) 26 miles East

26 Hie g

2) 26 miles West
26 el afgs

3) 4 miles East
49 qd

4) 4 miles West
4+t ufgm
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Correct Answer: 26 miles East
26 Hiar g

Candidate Answer: [ NOT ANSWERED |

QID : 640 - In the question two statements are given, followed by two conclusions, | and 1. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All officers are mothers
Statement Il: Some doctors are mothers

Conclusion I: All doctors are mothers
Conclusion IIl: Some mothers are officers

ued # gt e e & ok oy 2t e | ofir 11 Frerret T &)1 omuest o @ 2R S ohue T & e ) O I At & 9 ol g et enaent Fufa @ & & Ry e
Freeref & & @m-n/@m-2 B =0 & wu gr agt Feren o g &/ae & ofg wd e

o | ot aitfrget A &
&Y II: §B STy A §

freend I i Sfaed A6 §

frened II: 5 AIG SR §

Options:

1) Only conclusion | follows
Er

2) Only conclusion Il follows

et forsaed || T8 &

3) Both conclusions | and 11 follow

gt foreeef | afR 1 T &

4) Neither conclusion | nor conclusion 1l follows

a1 &t e | gt & = gt Freemd 1)

Correct Answer: Only conclusion Il follows
e w1l |98l &

Candidate Answer: [ NOT ANSWERED |

QID : 641 - In the question three statements are given, followed by three conclusions, I, 11 and I11. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle
Statement II: All sand is desert
Statement llI: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion lil: All jungle is sand

uet & o e R € vk amt i Freeed |, 11 ofiR 11 Prenrst ma &1 enoest g & o i oo e @ e g o I i @ O wefla g gt | emuest Fofo e & B Rg g
Freaf & & Fm-an/Fa-8 B =0 d sy gr od Peen o o &/aes & ot s an

& | oot AR ST
& I gt 3 meeye §
U NII: TS O S TR &

foreeed I: ¥ te weRue T €
freenef I1: R Yo g S @
foreened 1 oft S 3
Options:

1) Only conclusion | follows
et e | Wt &

2) Only conclusion Il follows

ered Foreene] || |t &

3) Only conclusions | and 1 follow
et ] | o 11 |8t &

4) None of the conclusioing follow
e I, 11 o 11 B8 8T &

Correct Answer: Only conclusions | and 1l follow
e e | 3R 1

Candidate Answer: [ NOT ANSWERED |
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QID: 642 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fe=ferRac ST arpfr & & &I+ |1 & fou v vy
STTEpIeT & et & W FRIT 18] ST HepelT?

Options:
1)

T

0

)

B

&

o

Correct Answer:

Y
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Candidate Answer: [ NOT ANSWERED |

QID: 643 -
Which of the following answer figure patterns
can be combined to make the question figure?
Freferias soR sl & & P9 ¥ ool &
GiTg e faU 10 99 ATl BT SR ol el 27

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED |

QID: 644 -
In the follewing figure, square represents Artists, tnangle
represents Military officers, circle represents collactors and
rectangle represents Fathers. Which set of letters
represents coliectors who are either military officers or
fathers?

frferian R o ovf, el @t neiia wvar &, P Fferdt
IFRIRI P HETHE BT €, G, oirad Pl Ha e A & AR
vt e @Y s oo & arart oo i e o
epeieres <l Maf¥ie mear & o a7 al [Fiee! Fiftead & o e
&
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Options:
1 H

2)B

36

4 F

Correct Answer: F
Candidate Answer: F
QID : 645 -

Which of the following Venn diagrams represents the
relationship between Women, Mothers and Teachers ?

ferAferiiae 3 | 19 AT 97 forT Afecnet, Jiai 3R fras!
& diter dee g9 87

Options:
1)

@

Correct Answer:

<

Candidate Answer: [ NOT ANSWERED ]
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QID : 646 -

Which answer figure will complete the pattern in the
question figure?

fFrfefaT & & -t So= ooy vy ampfr & wfirey

o
2

Options:

N
At

Z|

Cori

g\%g\

Candidate Answer:

g\
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QID : 647 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1 At SR Sl 7 & 99 kY w g R wa
apfar fifeer 21

Options:
1)

(AW
XX

[\

Correct Answer:
NN
i)
£ 2% 5
/ NN

Candidate Answer: [ NOT ANSWERED |
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QID : 648 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when apened.

T SR 3 [RaTT SR BT Bl AN I
BT HY AT Gl & T7< I6 foey TR STy ST
fereamg <m?

| TS |

------

Options:
)

O M ©O
> O 0<
o B o

0 A0

O'—éo
ife4i
O— 0O

®) O
=

> 0[O
=

) O

Correct Answer:

oo
Q M O
b0 04
o O o
O A0

Candidate Answer: [ NOT ANSWERED |
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QID : 649 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

IfS Ueh UUT T MIN XaT U= T 91T af &F =i IR
HTpICRIT H ¥ BIF-T SHTbIeT HA S1pler T el

Options:
1)

© =
A

P

4

Candidate Answer: [ NOT ANSWERED |
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QID : 650 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the allernatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-I|
are numbered from 5 to 9. A letter from these malrices can be represented
first by its row and next by its column, for example 'H' can be represented by
21, 43 efc and 'R" can be represented by 96, 87 etc. Similarly, you have to
identify the set for the word 'POEM".

U 2155 T U SCAT-TTE 3 S T &, SR e A w R e A
e rar 2 fererre 3 foxw o e SER & & @Y @ Sefe Mo E, S
ferm T 2 TegaT 4 &1 ST=E-| & T 1 Ul $T 6T 0 ¥ 4 31N SRR 61 5
T O B 3 OTSTRT F T AR B Teat SHht Uity a7t a7 H T e /TRy SuEr
T AT B SR F AU H* T 21, 43 ST SR @217 S S & 797 R @1
96, 87 ZNf ERT ST o W 21 3t avE & T war ¥ BT e POEM' &
e wege et e 21

I L M —

il 1 2 3 4 5 =] 9 |
0 A A L A B E Q L |
1 C A F B C [ N R Z
2 4 H 3 B K 7 P V| a |
3 F J A [0 L 8 3 N W |
4 i B | B H 3 [} % [ |

Options:

1) 76,69,01,33
2) 56,88,23.41
3) 89,56,44.02

4) 75,68,44,33
Correct Answer: 75,68,44,33
Candidate Answer: [ NOT ANSWERED ]

QID : 651 - Depreciation of fixed assets is an example of

Tt U &1 fegT JETeRul & _ I

Options:

1) deferred revenue expenditure
ST &g

2) capital expenditure

Yeirma =g

3) capital gain
ot

4) revenue expenditure
o &9

Correct Answer: capital expenditure
Yol =g
Candidate Answer: capital gain

ot srfer

QID : 652 - Which one of the following is not a feature of monopolistic competition?

Frfafera 7 & wi-dt oo Rrdtar gaiees wrgl 6t 781 87

Options:

1) Large number of buyers and sellers in the market
IR # WéegR] 3 Se-are & 98 g

2) Differentiated products constitute the market
erifea gemel & s s &

3) Product in the market is homogeneous

TR H FIE FHwa

4) Selling costs are used for sale promotion

fRrera e & fRrg kY el = v R wmen &

Correct Answer: Product in the market is homogeneous
TSR H JeIE AT gl 8

Candidate Answer: [ NOT ANSWERED |
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QID : 653 - What is the maximum loan amount permissible under the MUDRA Yojana?

HeT AT & Sfala sifta srgaa o HiH fEha 57

Options:

1) Rs. 50,000
50,000 Fud
2) Rs. 1 lakh
1 9 g

3) Rs. 5 lakh
5 g =

4) Rs. 10 lakh
10 o W

Correct Answer: Rs. 10 lakh
10 @Ir@ 0

Candidate Answer: [ NOT ANSWERED |

QID : 654 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?

ooy o5 g1 forg 719 3 & A ffeRaor & oFER W g F R dofl @ FeEfida @
Options:

1) Upper-lower income country
G‘EIED:{ T T &2

2) Lower-middle income country
F-mem ST aren

3) Middle-middle income country

A & AEH 0E a8y

4) Lower-upper income country

-3 oI e &9

Correct Answer: Lower-middle income country
e 3 arem

Candidate Answer: [ NOT ANSWERED |

QID : 655 - As per census 2011, which state had the lowest sex ratio?

2011 &1 FFTUFT & SFER, BFg aeg & o 9a9 & ar?

Options:
1) Punjab

LS
2) Haryana

3) Uttar Pradesh
FAR e

4) Bihar

fagr

Correct Answer: Haryana

Candidate Answer: [ NOT ANSWERED |

QID : 656 - Pluralist Theory of Sovereignty emphasizes thie importance of which of the followings?

T & "gerarsl g # Preferea & B o #e e s g7
Options:
1) Association

T

2) Monarch
Il

3) State
Ty

4) Government
SRR

Correct Answer: Association
g
Candidate Answer: [ NOT ANSWERED |

QID : 657 - In which of the following countries the system of judicial review was originated?

Frfefem 4 & for Su & =i geften woneht @1 3Ea gom ur?
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Options:
1) France
TR

2) Germany
A

3) USA

JqET
4) Britain
fad=

Correct Answer: USA
quEy
Candidate Answer: [ NOT ANSWERED |

QID : 658 - Under which article of the Indian Constitution is the District Planning Commission constituted?

Rt Gfaem & o s & diia S diemn i & 184 g 87

Options:
1) Article 243 ZD
g 243 ZD

2) Article 244 ZD

SFTg 244 ZD
3) Article 242 ZD
G 242 ZD

4) Article 243 ZE
SFTG 243 ZE
Correct Answer: Article 243 ZD

TG 243 ZD

Candidate Answer: [ NOT ANSWERED |

QID : 659 - Which kind of majority is required for constitutional amendment in forming a new state?

U 7401 3w g9 H T Heiye & g & agaa @igu?
Options:
1) Simple
HTEMRUT
2) Two-third
SEEEH

3) Three-fourth

A==

4) Two-third plus ratification by half of all states
gi-fererd ua ot Tt o erEw e

Correct Answer: Simple

HIYROT

Candidate Answer: [ NOT ANSWERED |

Page 20

QID : 660 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?

WRA TR HH-HT ATURR Taed 7 giet §¢ A Wkelta g & srdangt § w171 97 a1 R @ 87
Options:

1) Vice-President

3a TEufy

2) Attorney General of India

W hl BEEGH

3) Comptroller and Auditor General

i U HgTeiEn wdtets

4) Election Commission

G HTH

Correct Answer: Attorney General of India
R T HETAT ST

Candidate Answer: [ NOT ANSWERED |

QID : 661 - The term 'Stupa' is associated with which of the following event of Gautam Buddha's life?

T T T G & wiie] shi e O gee § Hafda g7
Options:

1) Death

g

2) First Sermon

TUH JULST

3) Birth

=

4) Renunciation
T&-drT

Correct Answer: Death
g
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Candidate Answer: [ NOT ANSWERED |

QID : 662 - Who was the last ruler of the Gupta Dynasty?

T 91 T S A H 17

Options:
1) Puru Gupta

FIA
2) Vishnu Gupta

faso

3)_ Skanda Gupta

e T

4) Kumar Gupta

FAR TS

Correct Answer: Vishnu Gupta
ey 1

Candidate Answer: [ NOT ANSWERED |

QID : 663 - Where was Guru Govind Singh educated and learnt Persian?

o e Rfg 4 e et g€ ok ST el e et o

Options:
1) Lahore

2) Amritsar

A
3) Patna
AT

4) Anandpur Sahib

TR Tifge

Correct Answer: Anandpur Sahib
SR FifgE

Candidate Answer: [ NOT ANSWERED |

QID : 664 - Which of the following was the precursor of Indian National Congress?

Frafef@a & e wredta afta wite 6 serm g o€

Options:
1) Servents of Indian Society
2) Indian Association
i
3) Indian National Union
giogaH A gfa
4) Indian League
okl

Correct Answer: Indian Association

Candidate Answer: Indian Association
g

QID : 665 - During which governor general's time was the annexation of Sindh in British State done?

g e Se & wmm Ry o Reg Gt aes o B e
Options:

1) Lord Dalhousie

TS Sergrait

2) Lord Chelmsford
S AHE

4) Lord Hastings
a%’:é e

Correct Answer: Lord Ellenborough
TR

3) Lord Ellenborough
FIE TerTasl

Candidate Answer: [ NOT ANSWERED |

QID : 666 - What is the second most abundant element on Earth's crust?

efl &1 T FUY URA () TR IUEE gEY HEE U o ol 7
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Options:
1) Carbon
A

2) Silicon
faferei

3) Oxygen
it

4) Hydrogen
GESEE]

Correct Answer: Silicon

Candidate Answer: Oxygen
ST

QID : 667 - What is called a shallow stretch of river that may be crossed on feet.?

Y 31 U I AR S fere A et § T R o 9, s e 27

Options:
1) Ford

Correct Answer: Ford
GIE
Candidate Answer: [ NOT ANSWERED |

QID : 668 - Which among the following is a cold-dry wind?

PfaiEe 79 #5 d o &8 ok s arg 87

Options:
1) Hurricane

2) Tornado
LEE

3) Bora

Gin

4) Cyclone

TrEeFA

Correct Answer: Bora
aRr1

Candidate Answer: Tornado
TS|

QID : 669 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?

fareTergR srafera A fAfifa S it arr Fefafa 7 @ few o 4 fea &7

Options:
1) Uttarakhand
FTRETE

2) Uttar Pradesh

IAR UL

3) Punjab

AT

4) Himachal Pradesh

e e

Correct Answer: Himacha! Pradesh
Ramae wdar

Candidate Answer: [ NOT ANSWERED |

QID : 670 - Which amang the following rivers does not flow from East to West?

Frefofea & & wim-at 3 o & ufm & ofk i g 87

Options:
1) Narmada
T

2) Tapti
Gilsif

3) Cauvery
I

4) Mahi
el
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Correct Answer: Cauvery
s

Candidate Answer: [ NOT ANSWERED |

QID : 671 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon” by the Union Government on November 21, 2017.

21 7=z, 2017 =t PrafefEs & fry ¢fe s TR &1 99 TR 3 "ae wRa g & wu A Tafa R
Options:

1) Haveli Dharampur

2) Charminar

3) Amaravati
S

4) Vishwa Bharati

[EERNGI

Correct Answer: Charminar

TRHAR

Candidate Answer: [ NOT ANSWERED |

QID : 672 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

B1e &1 & &Y 17 OWun & HER WA & UUH e Athera il theree? (FUET) &t e shel & set?
Options:

1) Andhra Pradesh

HFY T

2) Maharashtra

HETTE
3) Rajasthan
T

4) West Bengal
ofgp s

Correct Answer: Andhra Pradesh
HFY TS

Candidate Answer: [ NOT ANSWERED |

QID : 673 - Which of the following is a multilevel global campaign to spread awareness about importance of girl's education?

el F fRian & Aged & IR SRS ther & forg Feferfea 4 @ apedin s sftmm s m-ar g2

Options:
1) Girl Rising
Tt e

2) Most Important Part of Our Life: Girls
BAR S =1 T agd e afers
3) Sawve Girls: Educate Girls
TRt Fard: e Uer™
4) Education of Girls
&1 fram

Correct Answer: Girl Rising
e el

Candidate Answer: Save Girls: Educate Girls
aferent T arfernT uer

QID : 674 - Which country will host the Sumimer Clympics 20207

iren 3iieifie 2020 I A FE T 8 HEn?
Options:

1) Qatar

el

2) Tokyo

ey

3) Rome

M

4) Jakarta

EEan]

Correct Answer: Tokyo
ey

Candidate Answer: Qatar
e

QID : 675 - Which of the following sportsperson is not correctly matched with their respective discipline?

Frafef@a 7 & e Rerd &1 @ 97 @« & grfea 781 87

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net Page 24

Options:

1) Jitu Rai : Shooting
Sl wa : g1fém

2) PV. Sindhu : Badminton
di.ofl. Ry : dsfifes

3) Sakshi Malik : Boxing
wrafl Afers - ST

4) Deepa Karmakar : Gymnastic
&ron AT ; o

Correct Answer: Sakshi Malik : Boxing
aeft wfers - aifaT

Candidate Answer: | NOT ANSWERED |

QID : 676 - "A Better India : A Better World" is written by
‘TEeR dfear: vdm aee” % gry foref i &)

Options:
1) Arun Jaitley
BT TEE

2) Aamer Hussein

e gl

3) N. R. Narayan Murthy
TA. R, ARTIT Hf

4) C. Raja Mohan

. e AgA

Correct Answer: N. R. Narayan Murthy
. AR, AR HfE

Candidate Answer: [ NOT ANSWERED |

QID : 677 - Which among the following has won the Nobel Prize for Chemistry in October 20172

FrfafEe § 9§ fFae e 2017 # w3 9 & o e qeeer Sfiar &7

Options:
1! Jacques Dubochet
e

2) Joachim Frank
S ek

3) Richard Henderson
g gzemm

4) All options are correct.

ooft Reren Tt €

Correct Answer: All options are correct.
Tt ey @8t €

Candidate Answer: [ NOT ANSWERED |

QID : 678 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 20177

ST 2017 H, 7w AT 3 THTS GUR AT S S| 9% w o fEhae Seenver sy g 8?7

Options:
)2

4) 25
Correct Answer: 23
Candidate Answer: [ NOT ANSWERED |

QID : 679 - In May 2017, with which ccuntry india has signed an agreement on Maritime Security?

A% 2017 ¥, 9Rd 7 f35e 291 & |y w7l goen & wsia uR geaner g 82
Options:

1) Sri Lanka

2) Bangladegh

RS

3) Mauritius

aifeerg

4) China

i

Correct Answer: Mauritius

Candidate Answer: [ NOT ANSWERED |
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QID : 680 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?

A S 1 T1 UG $31 TG i oo AR ol gl & &R gRY AT 87

Options:
1) Pakistan
LiCasic]

2) Nepal
Aure

3) Sri Lanka
Eicel

4) Bhutan

e

Correct Answer: Bhutan

W

Candidate Answer: [ NOT ANSWERED |

QID : 681 - In which communication mode, data can be transmitted in both directions at same time?

ra TR & TR H T2 25 TR0 O 9T 1 21 fEanai F Ive g 22

Options:
1) Simplex
e

2) Full duplex
3) Half duplex
aref

4) Multiplex
A ey
Correct Answer: Full duplex

Candidate Answer: [ NOT ANSWERED |

QID : 682 - The computer program that converts assembly language to machine language is called ;

TR 1 g T it Srdvrett e oht meffet e & wuiaia s g, gl g

Options:

1) Complier
FHTRTR

2) Interpreter

3) Assembler
TR

4) Comparator

Earered

Correct Answer: Assembler
K g

Candidate Answer: Interpreter

QID : 683 - Which is a base metal of amalgam alloy?

ST TH2RITY T TR &g S 1 &7
Options:
1) Aluminium

2) Mercury
=T

3) Copper
GiEN

4) Zinc
Sl

Correct Answer: Mercury
=T

Candidate Answer: Mercury
T

QID : 684 - Which of the following is the structure of graphite?

Frfef@a 7 & & &t e § @eam g
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Options:
1) Rigid three-dimensional

F3E
2) Hexagonal
Lol

3) like Football
St

4) No option is correct.
TE 8
Correct Answer: Hexagonal

Candidate Answer: Hexagonal
Lrciic

QID : 685 - A wooden spoon is dipped in a cup of ice cream. Its other end will

TSl B Uk T I TSI & wiel § gEa T &1 396 guw @R |
Options:

1) become cold by the process of conduction

T Uighar & gR1 &2 8 Se

2) become cold by the process of convection

eyt wickan & gRT 3T 8t SITgm

3) become cold by the process of radiation

fafemon FARKTE S R e

4) not become cold

&2 g g

Correct Answer: not become cold

&3 78 g

Candidate Answer: become cold by the process of conduction
T Wi & ZR1 &2 8 S

QID : 686 - Which acid is the most abundant acid found in grapes?

ORI H TEE U AT § S T 31 U STE 87

Options:
1) Oxalic acid
feriferes o

2) Ascorbic acid
emfees et

3) Tartaric acid
e ot

4) Formic acid
RITHE 3R

Correct Answer: Tartaric acid
IR

Candidate Answer: Tartaric acid
aEfies ot

QID : 687 - The splitting of white light into its component colours is called .
A WIS 1 IEEF gl Ui § B FEaEr gl

Options:

1) diffraction

e

2) refraction

uE=

3) dispersion

4) scattering

Correct Answer: dispersion

Candidate Answer: [ NOT ANSWERED |

QID : 688 - Which of the foliowing statements are CORRECT?

I. Change in magnetic field produces induced current.

1. Flow of current in a conductor produces magnetic field.

1I. Magnetic field related to coil can be produced by motion between conductor and coil.

R i a Fmag &
|. gachia &= # uRadd € iRd ¥ Se= gt g |

11. =Tetes # HaTigd YRl 99ehia &5 I e ¢l
1. Hoeel & Gafira Judha &8, I U1 FUSe & Heg IAfad T & FRU1 g1 Thar &

www.ErForum.Net

Page 26

www.ErForum.Net



www.ErForum.Net

Options:
1) Only land Il
lauril

2) Only land Il
Sheret | il

3) Only Il and Il
e 1l

4) All statements are correct.
afi sy Edt €

Correct Answer: All statements are correct.

oft gt )
Candidate Answer: | NOT ANSWERED |

QID : 689 - Which gas is used as a fuel in a rocket?

e § foF & FuF o O g o Iuan R @ &7

Options:
1) Radon
wA

2) Hydrogen

3) Chiorine

FAR

4) Nitrogen

Correct Answer: Hydrogen

Candidate Answer: Radon

QID : 690 - Which of the following is good insulator?

PmfaiEe 79 ued afem gaes S arg?

Options:
1) Mercury
T

2) Cadmium
Feftan
3) Germanium

4) Glass

Enict

Correct Answer: Glass
g

Candidate Answer: Glass
i

QID : 691 - Which is the most abundant Vitamin found in carrot?

TR § T TR A F S a1 fRerfie oran s 82
Options:

1) Vitamin A

e A

2) Vitamin B

feffm B

3) Vitamin C

frerfim ¢

4) Vitamin D

freifd= D

Correct Answer: Vitamin A
frerfd= A

Candidate Answer: Vitamin A
e A

QID : 692 - How the rate of absorption of water through roots can be increased?

ST & ATeEH | O & ermaiu i er e ggrdt s g 87
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Options:

1) Keeping the plants in the shade
&I B H

2) Keeping the plants in the dim light

e ot Fg WeRal A T@ER

3) Keeping the plants under the fan

drefi &t o & S e

4) Covering the plants with a polythene bag
ot Uiterfi= & g

Correct Answer: Keeping the plants under the fan

drerf ot U & A TR

Candidate Answer: [ NOT ANSWERED |

QID : 693 - A spore producing plant is .

SSTTU] I TR Tell Uk UIgy i &l

Options:
1) rose

TelTe

2) bread mould
F1 g

3) potato

ST,
4) ginger
IR

Correct Answer: bread mould
SITRIE I g

Candidate Answer: bread mould
TSI T g

QID : 694 - Which chromosome is responsible for manliness in man?

o ¥ qRwe & g @ a quRph Wt gwert §
Options:
1) X0

2) YO
3) XX

4) XY
Correct Answer: XY
Candidate Answer: XY

QID : 695 - The human eye forms the image of an object at its 1

AT A TR feedt avg o nfafers Tt

Options:
1) cornea

2) iris

3) pupil

4) retina

Correct Answer: retina

Candidate Answer: [ NOT ANSWERED |

QID : 696 - Which of the following is NOT a multicellular organism?

e § 4 $19 91 v a2 FH1ild sim T@i 87
Options:

1) Fungi

hdch

2) Spirogyra

TTEIIIERT

3) Hydra

EES

4) Paramecium
2

Correct Answer: Paramecium
Rifafdas

www.ErForum.Net

Page 28

www.ErForum.Net



www.ErForum.Net

Candidate Answer: Fungi
e

QID : 697 - Which disease is caused by cadmium metal pollution?

Frefiay urg & neyuT § 1 a1 I g 82

Options:
1) Minamata

2) Itai-ltai
TETE5TS

3) Asthma
SRYAT

4) Dermatitis
Correct Answer: Itai-ltai

Candidate Answer: Asthma
HEHAT

QID : 698 - Which of the following is an organic gas?

Frfefes 5 @ & = us Sfes g g?
Options:

1) Carbon dioxide

A SrgHTaTEE

2) Carbon monoxide

T AAIHTEES

3) Ethylene dichloride

4) Nitrogen dioxide

SIECICEE
Correct Answer: Ethylene dichloride
of e gEeeiREe

Candidate Answer: Carbon dioxide
e TS

QID : 699 - Basel Protocol is related to which of the following?

e iiele e § @ e deida 82

Options:
1) Ozone layer
ST T

2) Burning of forests

T T ST

3) Sea water pollution

T ST T TGO

4) Trans-boundary hazardous dumping
WA SO UgTf & AR TR

Correct Answer: Trans-boundary hazardous dumping
WAETR HOE ger & FATaR LR

Candidate Answer: Trans-boundary hazardous dumping
WA AU UET & HATOR TR

QID : 700 - Which of the following is parasitic food chain?

Frafaf@ra 7 & i wiosiid e ojea 32

Options:

1) Trees — Fruits eating birds —* Lice and bugs
&1 — Thel @I aTet Uaf — o 7o e

2) Grass — Rabbit = Fox — Tiger

I — TR — AHSt > &Te

3) Grass — Grasshopper —* Frog = Snake — Hawk
g —» g1 — fge - fin— aw

4) Phytoplankton — Zoopiankion — Fish = Hawk
OIEY e — M0l FEe > Al — T

Correct Answer: Trees —* Fruits eating birds — Lice and bugs
&1 — Thel @ aTer Uaf — of a1 i

Candidate Answer: Grass — Grasshopper = Frog — Snake — Hawk
g — 781 - fgs - I - aw

QID : 701 - Which of the following quality of timber can be improved using Abel’s process?

Frafef@a A & drerd &t o & qore gae & ufehar @ gur I 8?7
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Options:

1) Durability
Fgefteran

2) Fire resistance

3) Chemical resistance
PIGHUET]

4) Strength
drehd

Correct Answer: Fire resistance

it wfeRiersran

Candidate Answer: Chemical resistance
TR nfeRteR

QID : 702 - Which of the following shows the CORRECT decreasing order of rate of hydration of Portland cement compounds?
FrefefEm & & FF an udds dife fifte & SToier 6 g2 & I8 92 o0 o R &7

Options:
1)

C,A>C,AF>C,5>C,S
2)
CA>CAF>CS>CS
3)

C.A>C,S>C,S>CAF
4)

CAF>CS>CA>C,S
Correct Answer:

C,A>C,AF>C,5>C,S
Candidate Answer:

C.A>C,AF>C.,$>C,S

QID : 703 - The proportions of ingredients in concrete mix are given by 1:2:4. What will be the actual quantity of the sand per unit volume of cement, if it undergoes
20% of bulking?

Sehte Beror & greeft o oruTd 1: 2: 4 3 rara # o man @) dde i oi g e e | Y & St A e g, afs I8 20% S e g e?
Options:

1) 15

2) 2.4

3) 4.6

4) 6.5

Correct Answer: 2.4

Candidate Answer: 6.5

QID : 704 - What is the range of slump (mm) of the concrete which Is used as the mass concrete?

wehIe o 7T & w9 § T far wien &, s (7 o) e &2

Options:
1) 10to 15
1015

2) 20 to 50
20 ¥ 50

3) 50 to 75
50 ¥75

4) 7510 110
758110

Correct Answer: 20 to 50
20 %50

Candidate Answer: [ NOT ANSWERED |

QID : 705 - In the symbol used to represent the concrete mix, MX. M stands for mix and numeric X represents the .

dehe frepor o1 ufafAie s & forg uges famg MX H, M fsror & g § ok dearers X a1 ufaffde swan &1
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Options:

1) 7 days compressive strength
7 i & wdtem am

2) 14 days compressive strength
14 &1 & ddrea g

3) 28 days compressive strength
28 fam1 & wdie Ty

4) 28 days tensile strength

28 &1 & a1 T

Correct Answer: 28 days compressive strength

28 f&=1 & dftee et

Candidate Answer: 28 days compressive strength
28 fam1 & Tt T

QID : 706 - According to the IS code, at what moisture content, weight of the timber is noted?

T T, TS & AR, fohe Y U=, TeRel a1 gt Ate o e &7

Options:

1) 0.05

2) 0.12

3023

4) 0.3

Correct Answer: 0.12

Candidate Answer: 0.12

QID : 707 - What is the recommended moisture content of timber, which is used as a structural element for windows?

gl o [arefera & forg Seamrens ae & w0 & v fEran wran &, ameifda At & g w2

Options:

1) 510%

2) 10-16%

3) 16-26%

4) 26-36%

Correct Answer: 10-16%
Candidate Answer: 10-16%

QID : 708 - Which of the following represents the smallest size (mm) of fine aggregate (sand)?

FrfefEm 4 & FF a1 aréis sgeaa (39) § 999 81 R () = fReam &7

Options:

1) 0.01

2) 0.06

315

4) 2

Correct Answer: 0.06

Candidate Answer: [ NOT ANSWERED |

QID : 709 - What is the percentage content of silica iri & goad quality brick earth?

St TUTEN aTell HaT S g v H Iuhm o et § 39 Rfereh i nitra JE = g7

Options:

1) 20-30%

2) 30-40%

3) 40-50%

4) 50-60%

Correct Answer: 50-60%
Candidate Answer: 50-60%

QID : 710 - When timber is burit in the wood fire over a depth of about 15 mm, the process of treatment is known as "
Fehe! % IUER &1 ufchan foies s dt & amT H e 15 A R erE a e g ar o & o1 el ST &
Options:
1) charring
i
2) rueping process
uferan
3) bethel process
aret ufean
4) boucherie process

Correct Answer: charring

Candidate Answer: [ NOT ANSWERED |
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QID : 711 - The plasticity index and plastic limit of a soil is given by 25% and 20% respectively. What will be the liquid limit of the soil?

ot i gaegar (W) gaois o Yaea (TnfRsd) ST mran 25% iR 20% T d 1 &) BAg 6t e S &2

Options:
1) 0.15
2)0.25
3)0.35
4) 0.45

Correct Answer: (.45
Candidate Answer: [ NOT ANSWERED |

QID : 712 - In the flow over length of 50 m, the head loss of 6 m occurred due to seepage. The hydraulic gradient is given by .

50 Hex it Fag # varg A, 6 Hiex i S 1 JREE R & wR1 gan| g g ifgue w1 fear s 21

Options:
1) 0.01
2)0.12
3)0.29
4) 0.32

Correct Answer: 0.12
Candidate Answer: [ NOT ANSWERED ]
QID : 713 - Which of the following expression represents the CORRECT value of coefficient of curvature?

Pt & § & t 3fs Tehar & quiiss & Tgt A & nfafAfee s g7

Options:
1)

2
£ (DEE')

: D;, x Dy
2

2
C - ('DGU}

) Dy, x D,

3
2
C - (DW}

) D, x Dy,
4)

o D,

© Dy =Dy
Correct Answer:

2
e (DEU)

: D,y Dy
Candidate Answer:
£ s Dan

Dy, = Dy

QID : 714 - Which of the following apparatus is used to measure the liquid limit soil?

gt & e G a1 Ao & e Prafeias 7 9 e ueor @ vt foman s 8?7

Options:
1) Casagrande apparatus
FENIE ITROT

2) Pycnometer
L4

3) Ring and ball apparatus
3R et Jueeor

4) None of these

19 & g 7

Correct Answer: Casagrarnde apparatus
TS IUFROT

Candidate Answer: [ NOT ANSWERED |
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QiD:715-
The compressibility of the fluid is given as 5x 10~ Pa™’
What is the Bulk modulus (GPa) of fluid?

%d $T GHIOTar 5x 107 Pa” & &9 7 & FT B
TReT Yer T YedeadT Al (GPa) #T #7

Options:
1) 10

4) 25
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED |

QID : 716 - Which of the following is measured with the help of an orifice meter?

o & & =9 eiffeftr Htex & ggra @ g s 87

Options:
1) Discharge
frfe

2) Discharge coefficient
el o=

3) Head of water
o=l &t FETg

4) Pressure coefficient
ST T[UTiER

Correct Answer: Discharge

Candidate Answer: [ NOT ANSWERED |

QID : 717 - Which of the following represents the CORRECT range of coefficient of discharge of venturimeter?

i 7 4 9 o1 3gdHie & Pdee & quiss & 9 dm & afaffte s g2

Options:
1) 0.32 t0 0.43
0.3290.43

2) 0.45t00.52
0.45¥0.52

3) 0.54t0 0.75
0548075

4) 0.96 t0 0.98
0.96 §0.98

Correct Answer: 0.96 t0 0.98
0.96 ¥0.98

Candidate Answer: [ NOT ANSWERED |

QID:718-
A cube of dimension 2 mis floating in the walter
with immerging depth of 1 m. What is the weight
{kM) of the cube? (Consider urit wélght of water
as 10 kN/m® )

2 e & A &l 0 1 10T thi 3970 TBUS &
|y g A A W B g4 1 g (KN)

1 87 (71 A &l el v 3HS aete
10kN/m® &)

Options:
1) 10

4) 40
Correct Answer: 40
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Candidate Answer: [ NOT ANSWERED |

QiD:719-
The Reynold number for the flow through smooth
pipe is given by 10°. The value of friction

factor for smooth pipe is

RIwer OIS0 & ATH ¥ WE & oT Wes aa7 10° )
A= BT & T = 7 &
i |

Options:
1) 0.001

2)0.018
3) 0.089

4) 0.125
Correct Answer: 0.018
Candidate Answer: [ NOT ANSWERED |

QID : 720 - At a particular point in the channel, the specific energy and velocity of flow is given by 1.5 mi-kg/kg and 2.5 m/s respectively. What is the depth of flow in
channel at that point?

e 7 v famtw foig w, Rfire S ofk watg sw1dm shAsn 1.5 mekg / kg 8k 2.5 m / s GR1 & wiran &1 39 wwa J9a | warg 1 e w82
Options:

105

2)1.18

3)232

425

Correct Answer: 1.18
Candidate Answer: [ NOT ANSWERED |

QiD:721-
A circular pipe of diameter 60 cm carries a
discharge of 2.5 m/s. What is the velocity

of flow (m/s) through the pipe?

60 T =T T T TR UTET # e
28mis Bl IS & HEIH ¥ YaG (m / 5) &1
T =T 57

Options:
125

2) 5.67
3) 8.83

4) 12.32
Correct Answer: 8.83
Candidate Answer: [ NOT ANSWERED |

QID : 722 - Which of the foliowing represents the CORRECT relationship between the Chezy's coefficient, C and coefficient of roughness of channel, f?

Frefofera & @ @ 3 =it qores, C Sk @t &t GReaH unis, f & o ag fed 1 nfafifde s &2
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Options:

Correct Answer:
1
Goc—
JF

Candidate Answer: [ NOT ANSWERED ]

QID : 723 - Which of the following is calculated with the help of Moody equation?

TEt gviiezor it geraar € e 7 & Rrad momn Sl §?

Options:
1) Discharge
forefeet

2) Friction factor

U] R

3) Pressure

g

4) Velocity of flow

TETE o a3

Correct Answer: Friction factor
0T SRR

Candidate Answer: [ NOT ANSWERED |

QID : 724 - Which of the following is responsible for the separation of boundary layer?

T w=a & srert g & g P A @ i Pmder @2

Options:

1) Positive pressure gradient
HehRIcHeh geTd HaUTdn

2) High viscosity of fluid

54 Y I g

3) Low viscosity of fluid

el uzr 1 FH e

4) None of these

T ¥ FE AR

Correct Answer: Positive pressure gradient
LR RITH: SE1E AI0TT

Candidate Answer: [ NOT ANSWERED |

QiD:725-
The settling tank of surface overflow rate of
4 510 m imifs is used for design discharge of

2 ntls. What is the suiface area f_mQ] of the settling
tank?

|6 & A9am ot 45210 m'int/s F aeoe
FHT T 39U 2n s TSese & TEEETer

& v & o1er §1 dooe Sl £ T &
(m?) =T §?
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Options:
1) 1000

2) 2000
3) 3000

4) 4000
Correct Answer: 4000
Candidate Answer: [ NOT ANSWERED |

QID : 726 - The rain is called as acid rain, when its pH is less than .

afyer =t ol ot gt ST & e 3T e TFT g I
Options:

13

2) 4.5

37

4) 8.5

Correct Answer: 4.5

Candidate Answer: 4.5

QID : 727 - Using prismoidal method, what is the volume (cubic metre) of earthwork required for 10 m deep pit, if the top and bottom dimensions are4 m x 8 m and 8
m x 16 m respectively?

Prswra fafer & Tuar et U, 10 Hiex TR 712 & o onmavass et o o (97 Hiex) o § Aty < ik i & srrar 4 e x 8 Hiw iR 8 Hiew x 16 H iR §?7

Options:

1) 678.34
2) 746.67
3) 800

4) 1493.33

Correct Answer: 746.67
Candidate Answer: [ NOT ANSWERED |

QID : 728 - For supply, lime is measured in .

T i & ferg, Ao Simen &)

Options:
1) bags of 50 kg
50 ok & &

2) cubic metre
T diex

3) kilograms

Ezioe)

4) quintals

E=rc]

Correct Answer: quintals

Candidate Answer: quintals
E=rcl

QID : 729 - What is the estimate (Rs.) for a building with a plinth area of 2000 sq. m with rate of Rs. 3800 per sq. m? (Consider the adds of 15% of electric installation
and 7% of miscellaneous)

2000 F¥ier & & (ffeiy) smeer & Fmfor & @y 3800 @ uftr vt diex it @ & g 1f (Fu9) &1 &2 A #ifSr 6 15% feega s ofk 7% Rfdwer &)

Options:

1) 150000
2) 450080
3) 2423000
4) 9272000

Correct Answer: 9272000
Candidate Answer: [ NOT ANSWERED |

QID : 730 - What s the quantity (sq. m) of plastering required for the 6 m length of wall which is 4 m high and 50 cm thick?

6 Hiew @7, 4 #1eT Y oz 50 TR A2 §iar & o smaxass uereer F AT (9 Hiew) Fn d?
Options:

1) 12

2) 24

3) 48

4) 56

Correct Answer: 48

Candidate Answer: 24
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QID : 731 - The length, width and height of a wall are given as 800 cm, 500 cm and 50 cm respectively. What will be the total cost (Rs.) of brickwork, if the rate of
brickwork is Rs. 320 per cubic metre?

U & i i, Trer ofik e whAen: 800 Y, 500 Y ol 50 At v F §rnd 1 afy SR i o 320 wug ufe w9 Hier & & & f o wvma (3) Fn g
Options:

1) 4000

2) 6400

3) 10500

4) 12860

Correct Answer: 6400

Candidate Answer: [ NOT ANSWERED |

QID : 732 - The plinth area rate and plinth area of a building is Rs 5500 per sq.m and 150 sq.m respectively. What is the total cost (Rs.) of building considering cost of
electrification as 7%, cost of sanitary fittings as 16%, cost of roads and lawns as 6.5% and cost of contingencies as 4.5%.

Ush FARA o Wi (fely) sracret 157 ofiv T Shet s 5500 Fuv ufar avf #iew ofik 150 ofe & wier & 1519 7% RedieRo e, 16% Sl R & &, 6.5% gea]
IR &1 & AT 3R 4.5% e &g & w0 # Fmir & e e (3ue) @0 &

Options:

1) 50000

2) 825000

3) 982860

4) 1105500

Correct Answer: 1105500

Candidate Answer: [ NOT ANSWERED |

QID : 733 - Which of the following item is NOT a lump sum item?

Frafafera & 2 # ar a5 gege i a5 T8 22

Options:
1) Architectural features

2) Contingencies and unforeseen items
2

3) Electric installation

[ERCESin

4) Plastering of wall

EIER T el

Correct Answer: Plastering of wall
&R T UeTER

Candidate Answer: [ NOT ANSWERED |

QID : 734 - What is the total cost (Rs.) according to approximate estimate of hostel building with capacity of 75 beds? The altogether cost per bed is given as Rs.
20,000.

75 &8 &1 & G eEE & Ffon d srepnfaa et smrE (Sug) g 87 Uit U gl @ 20,000 9y far ma g

Options:

1) 500000

2) 850000

3) 1500000

4) 5500000

Correct Answer: 1500000

Candidate Answer: [ NOT ANSWERED |

QID : 735 - What is the volume of earthwork (cubic metre) in embankment of 10 m long and 7m wide with the side slope of 2:17

2:1 & el e 1y 10 Hiex well 3k 7 iz el v dedy F gers (99 HieR) & g = 87
Options:

1) 70

2) 150

3) 280

4) 390

Correct Answer: 390

Candidate Answer: | NOT ANSWERED |

QID : 736 - Which of the following method is used to prepare the approximate estimate?

et & & forg =i e o srATa tiereer SR & & forg feman o &7

Options:
1) Cubical contents method
a1 et A

2) Plinth area method
#he At

Y

3) Unit base method
gehTe areR fafdy

4) All option are correct
forereg T8t &
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Correct Answer: All option are correct
oot foeea wet €

Candidate Answer: [ NOT ANSWERED |

QID : 737 - In which of the following condition two contour lines intersect each other?

FrafefEa 7 & G ol v & v W v R # wed §
Options:

1) Hills

BT

2) Overhanging cliff

T g T

3) Steep slope

gl ga

4) Uniform slope

A &1

Correct Answer: Overhanging cliff
SERT gt =g

Candidate Answer: [ NOT ANSWERED ]

QID : 738 - Which of the following scale of the map is not affected due to shrinking of map?

mHfa & e s | & s e & Rigee & sron nafaa w8 g &7

Options:
1) Engineer’s scale
¥y =1 AaH
2) Graphical scale
B HITEH
3) Representative fraction
uferey sisr
4) None of these
g

Correct Answer: Graphical scale
FemTers AaE

Candidate Answer: [ NOT ANSWERED |

Page 38

QID : 739 - A surveyor measures a distance between two points on a map of represantative fraction of 1:100is 60 m. But later he found that he used wrong

representative fraction of 1:50. What is the correct distance between the two points?

U Tdereh, 1: 100 2 UfeRey sier & arares v g fgait & offa ot o | & 571 60 #iex &) &ftem 9 & 3= o 35 3817 1:50 & 7Ted Wioey 3i91 21 Iuan iR 81 & figafi &

&= gt g Fn g?

Options:

1) 30

2) 45

3) 90

4) 120

Correct Answer: 120

Candidate Answer: [ NOT ANSWERED |

QID : 740 - Which one of the following is the CORRECT statemient for a station that is affected by local attraction?

frefefEe § & o o1 o BeF & o @t e & o & iy s @ g @

Options:

1) Difference between the fore bearing and back bearing is always equal to 90 Degrees.
a1 Farfin ot g Sorfé o ofem gRen 90 B S mEx T

2) Difference between the fore bearing and back bearing is always equal to 180 Degrees.
oy Fafin it ursa Serfén o ofer gran 180 fath & sver gian &

3) Difference between the fore bearing and back bearing is not equal to 180 Degrees.

3 i afR e Ao & oiew ran 180 Bt & e AR g €

4) Difference between the fore bearing and back bearing is always equal to 360 Degrees.
3 T SR weg o & i B an 360 3 & RER g g

Correct Answer: Difference between the fore bearing and back bearing is not equal to 180 Degrees.
3 Srarfin iR wivg Ffn F1 afaR g an 180 it & sRreR A g &

Candidate Answei: Difference hetween the fore bearing and back bearing is not equal to 180 Degrees.

o Sarfin offe mreg Feifin o ofce gAm 180 i & e i gt &

QID : 741 - Which of the foliowing error is most likely to occur in the plane table surveying?

Frfafae 4 @ # &t 3ft @@= 2aa aderor & gat arfdes 817 S G &2
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Options:

1) Error in sighting

dER AR

2) Error in orientation
Ranfdar 7 g

3) Error in leveling
e H

4) Error in measurement
g # i

Correct Answer: Error in orientation
feanfrdar & 7f2

Candidate Answer: | NOT ANSWERED |

QID : 742 - Which of the following is the expression for the additive constant, if f is the focal length of objective and i is the stadia interval?

Frfafera & @ i a1 dieies fFradies & fog 3w 8, af2 f awg 6 wies oft ofik | R simre 82

Options:

1) f-i

2f/i

3 f+d

4) fxi

Correct Answer: f + d
Candidate Answer: f /i

QID : 743 - The staff reading taken on a staff held at a distance of 50 m from the instrument with the bubble central is 1.465 m. When the bubble is moved 4 divisions
out of the centre, the staff reading is 1.472 m. What will be the radius of curvature (m) of the bubble tubg, if the length of one division is 2 mm?

AN chedh o 1Y IUSROT & 50 Hiex 6T ot IR Ao ek €I U &t T WA S 1.465 Hiex & Sd Geae the o a1e? 4 HHT o THTard O s &, 7 =1k uae 1.472 Hier
2 gergen e e e (fie) 7 g, af2 ge s s 2 fef 22

Options:
1) 30

2) 437
3)57.14

4) 66.34
Correct Answer: 5/7.14
Candidate Answer: [ NOT ANSWERED |

QID : 744 - Which of the following is the CORRECT ratio of refraction correction to curvature correction?

FrafefEe 7 F srued & guR 3 g & GUR & e wgt o = &2
Options:

1) 1/4

2) 1/6

3) /7

4)1/9

Correct Answer: 1/7

Candidate Answer: [ NOT ANSWERED |

QID : 745 - Which of the following instrument is used for centering the theodolite in windy conditions?

Frafeif@ra 7 @ @i @1 99 ga i (el & Riaisiemse i Hea s & forg i s s g2

Options:
1) Cross staff
T WIh

2) Optical plummet
VRt Eget (wfHe)

3) Optical square
catliplen|
4) Spirit level

aEH (e saw)

Correct Answer: Optical plummet
viersfta gt (Fre)

Candidate Answer: Spiiit level
arors (e sae)

QID : 746 - Which of the following test is used to make the line of sight perpendicular to the horizontal axis?

Frefofera & & R adierr & tares & gfe-Yan @ &ft ois ot diaaa o & fovg s Ran sman 82
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Options:

1) Azimuth test

frtar (orfifar) aieor

2) Cross hair ring test

et g fim udferor

3) Spire test

e (TR Tt

4) Vertical arc test

9T e

Correct Answer: Azimuth test
fetar (orchfira) odteror
Candidate Answer: [ NOT ANSWERED |

QID : 747 - Which of the following statement is TRUE for the linear reservoir?

Frefef@a # & o a1 wy= W senen & e &7

Options:

1) Storage is proportional to inflow discharge.

g orarg Fdg & e &

2) Storage is proportional to outflow discharge.

g Aigatg P & Ao 81

3) Storage is proportional to square of inflow discharge.
ug oraaig Fdga & @l & s &1

4) Storage is proportional to square of outflow discharge.
T afgals Prefem & aif & smoias &)

Correct Answer: Storage is proportional to outflow discharge.
g afgafg e & s 21

Candidate Answer: [ NOT ANSWERED |

QID : 748 - A 45 cm diametre well penetrates an unconfined aquifer of 30 m thick. Under the steady pumping rate for a long time, the drawdown'’s at two observation
wells 10 m and 20 m from the pumping well are 5 m and 3.5 m respectively. What will be the discharge (cubic metre), if the permeability of the aquifer is given as 20
m/day?

U 45 9+t g 30 Hex i Jierd & g Jefid Sieyd & 9Ty ot avg 9 UaRT el §1 o ey ae i Ot g2 & g, sE 5 Hex ok 3.5 Hiew & &1 srgeie gei § dft
AT 2 &1 ofamieR Hait & 10 Hie R 20 Hiex §1 R Siersr i urergan 20 Hiex / B s &0 & & S g d9 vang (i Hiew) s gem?

Options:

1) 0.05

2) 0.067

3) 0.08

4) 1.12

Correct Answer: 0.08
Candidate Answer: [ NOT ANSWERED |

QID : 749 - What will be the cant deficiency (cm), if maximum safe speed on a 5 Degree curve of a broad gauge track is 110 km/h and average speed of trainis 85
km/h?

&e # it (BHY) R gefl, o Qe = et e oY 5 (2t aek O srfereran gfsi nftr 110 et / der St ofi 271 St offera nfty 85 st / e Eifi?

Options:
1) 6.3
2)10
3)12.6
4187

Correct Answer: 10
Candidate Answer: [ NOT ANSWERED |

QID : 750 - What will be the shift of transition curve, if the length of transition curve is 80 m and radius of the curve is 300 m?

TIRITHA &R i UTel ST SN, 3T U+ 9 i wiams 80 Hiew ofe o & Bem 300 dew 27

Options:
1) 0.011
2) 0.78
3) 0.89
4) 21.33

Correct Answer: 1.59
Candidate Answer: | NOT ANSWERED |

QID : 751 - Design of a riveted joint, is based on the assumption

faes wiig = 3o, yron w2 amrenfa &
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Options:
1) Load is uniformly distributed among all the rivets
dra gam = @ fRafa e man g

2) Shear stress on arivet is uniformly distributed over its gross area

ReE R hazHl &1 3919 U= Tehd &7 U 9AF U ¥ fFaka T s g

3) Bearing stress is uniform between the contact surfaces of the plate and the rivet
SR T wite & Yush Tagi o Shiels & oI Uh A&

4) All option are correct
farren T8t &

Correct Answer: All option are correct

it Rerea Tt &
Candidate Answer: | NOT ANSWERED |

QID : 752 - Effective length of a column effectively held in position and restrained in directions at both ends is

et &1 & FEfY & 2@ o ofk £ B wk e | it v wiem S ourf s &

Options:
1)L

2)0.67L
3)0.85L

4)1.5L
Correct Answer: 0.67 L
Candidate Answer: 0.85 L

QID : 753 - The slenderness ratio of a column is zero when its length

Ueh T &1 TUETH AU S BT 8, 519 3eh! 7arg
Options:

1) is zero

8

2) is equal to its radius of gyration

TMER & e e & wIaR g

3) is supported on all sides throughout its length
Tt s ot oty & TAfda &

4) None of these

T FE T

Correct Answer: is supported on all sides throughout its length
oft ok oot v & nfefa &

Candidate Answer: [ NOT ANSWERED |

QID : 754 - Qutstanding length of a compression member consisting of a channel is measured as

et et & e o ddte gow & aaman dar o) 59 G¥g  H S |

Options:
1) half of the nominal width
AT TISTS ST e
2) nominal width of the section
SFMTT 1 AT TreE
3) from the edge to the first row of rivets
feFm & Redew 1 vl dfer & fog
4) None of these
g

Correct Answer: nominal width of the section
SFHTT & ATHAT e

Candidate Answer: [ NOT ANSWERED |

QID : 755 - The equivalent axial load may be defined as the load which produces a stress equal to

R e R hi wig & w9 H giii Brar sn g § o & 9% awes a=d of de1 s

Options:
1) maximum stress produced by the eccentric load
feretaTor YR g1 Iedw sifueas ad
2) maximum stressed fiber
g thTEER TR SR &
3) bending stress
L L&-CIC)
4) None of these
T § IS E
Correct Answer: maximum stress produced by the eccentric load
et YR g1 9oua sfdeas @

Candidate Answer: | NOT ANSWERED |
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QID : 756 - For the economical design of a combined footing to support two equal column loads the projections of beams in lower tier are kept such that bending

moment under column is equal to

Bl TRTER T TS &7 gAY A & o dgeh o & anfifes feeme= & o Fraet &R o o1 orp o st &, anfds i & A1 1o o1 8101 39 RIER 1

Options:

1) bending moment at the center of the beam

& & &g | PR ol &1

2) half the bending moment at the center of the beam
& & g F ST A T &7

3) twice the bending moment at the center of the beam
W & &g & & IR FH P 0T

4) None of these

Correct Answer: bending moment at the center of the beam
& & g & g o &

Candidate Answer: | NOT ANSWERED |

QID : 757 - A beam is defined as a structural member subjected to

U &7 o] HEEHTeHe T o w0 H uRid fEan s &, avrd @y

Options:
1) axial loading

2) axial and transverse loading
SR SIRY TG

3) transverse loading

TR TR

4) N%ne of these

Correct Answer: transverse loading
ST oTeT
Candidate Answer: None of these

FRAYHE TG

QID : 758 - The gross section of the web of a beam is defined as

e {7 6t 39 & Ohe @ o 39 avg 8§ uRwfia Rrarman g

Options:
E‘que h thhe beam multglled by its web thickness
EaGil

2) width of the ﬂange multiplied by its web thickness
TFrepen g 3 &t <ierg saeht A= Hierg & o gt §

3) sum of the ﬂange width and depth of the beam multiplied by the web thickness

AT TiSTS SR diH & TERIE 1R &1 3 AT F o

4) None of these

TTH & HE TG

Correct Answer: depth of the beam multiplied by its web thickness
& & e T 39 Her Ao Fd &

Candidate Answer: [ NOT ANSWERED |

QID : 759 - The effective length L of a simply supported beam with ends restrained against torsion, and also the ends of compression flange partially restrained

against lateral bending is given by

ues guidfa dta i nwrdt we L, e Brar s & e ofkiy @) 8 ok o goma & e onifdiss wu 8 vt 9dien & m e grmi R mo &

Options:

1) L= span

L = araiyy

2) L=0.85 span
L=0.85

3) L=0.75 span
L =0.75 sfafer
4) L=0.7 span
L=0.7 srafy

Correct Answer: L= 0.85 span
L =0.85 ¥afyr

Candidate Answer: L= 085 span
L =0.85 safer

QID : 760 - The connection of one beam to another beam by means of an angle at the bottom and an angle at the top, is known as

A e o ok 2 W g o A U din @ g8 i o e, 55 w0 § S S g
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Options:
1) unstiffened seated connection
Frafy iR wae=

2) stiffened seated connection
e gon R A

3) seated connection

R e

4) None of these
T I AE
Correct Answer: seated connection

R e
Candidate Answer: | NOT ANSWERED |

QID : 761 - Separation of water or water sand cement from a freshly mixed concrete is known

arer fBfE dhie & ut ar o & 39 e & o e &Y 38 Y € S S g

Options:
1) bleeding
=&

2) creeping
THITET

3) segregation
ST

4) flooding
e

Correct Answer: bleeding
=T

Candidate Answer: bleeding
s

QID : 762 - For road pavements, the cement generally used is

T & Feury & forg, Mz o IuanT g1 atel e gt &

Options:

1) ordinary Portland cement
TR UiEeiE W

2) rapid hardening cement
eft & e g At T

3) low heat cement
=\ am Hife

4) blast furnace slag cement
AR T T HHE

Correct Answer: rapid hardening cement
ft & T g arelt Hie

Candidate Answer: ordinary Portland cement
TR uiéee gz

QID : 763 - Hydration of cement is due to chemical action of water with

Tz o1 g1E2eM, € U & TS iR & RO g &

Options:
1) Tricalcium silicate and dicalcium silicate

2) Dicalcium silicate and tricalcium aluminate
FaECo e Erd

eEH

3) Tricalcium aluminate and tricalcium alumino ferrite
TR thage

4) All option are correct
ofi Rrea Tl &
Correct Answer: All option are correct
i Rreu ol €
Candidate Answer: Tricalcium aiuminate and tricalcium alumino ferrite

R grs iR sfert thrge

QID : 764 - Internal friction between the ingredients of concrete, is decreased by using

dhehte ot Traft & dte erfa e weiuT, S5t o SUET eeh o fohaT o e &
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Options:

1) less water

& O

2) fine aggregates
arie Ty

3) rich mix

Ty Mo

4) more water and coarse aggregates
s W &l Her ay=

Correct Answer: more water and coarse aggregates
Hftres weT ol Hrer Eg=g

Candidate Answer: more water and coarse aggregates
S wH R AT I

QID : 765 - In a slump test, each layer of concrete is compacted by a steel rod 60 cm long and of 16 mm diameter for

T wte B, dehie S Ueds WRa & 60 em #5916 mm = f T 38 g1 595 P sidee fom s

Options:
1) 20 times
209R

2) 25 times
25 9R

3) 30 times
30 IR

4) 40 times
40 times

Correct Answer: 25 times
25 9R

Candidate Answer: [ NOT ANSWERED |

QID : 766 - To prevent segregation, the maximum height of placing concrete is

SEITITE e Ieh=t o o1, Shehie W@ &Y Affshas 18 &
Options:

1) 100 cm

2) 125cm

3) 150 cm

4) 200 cm
Correct Answer: 100 cm
Candidate Answer: [ NOT ANSWERED |

QID : 767 - The shuttering of a hall measuring 4 m x 5 m, can be removed after

4m x5 m e T aTe §Tel &1 K, T 399 918 § fera o 9Edl g
Options:

1) 5days

s5f

2) 7 days
7R

3) 10 days
10 =

4) 14 days
14 &=

Correct Answer: 7 days
7R

Candidate Answer: 14 days
14 =

QID : 768 - For compacting plain concrete road surface of thickness less than 20 cm, we use

20 ¥ & o dierd & Toae 519 TS o &R & g, gH Iuam A &
Options:
1) internal vibrator

2) screed vibrator
ThIE
3) form vibrator

4) None of these
TR FE
Correct Answer: screed vibrator

THE ATgEeR
Candidate Answer: [ NOT ANSWERED |
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QID : 769 - Pick up the correct statement from the following

e & ot s o ggaE S

Options:
1) Construction joints in columns are provided a few cm below the junction of beam
ﬁ%ﬁﬁﬁ'ﬂfmwﬁéj i 19 & S § @ cm A nem R s &

2) Construction joints in columns are provided at the bottom haunching
wiers # ot sl e A gt & o R s &

3) Construction joint in beams and slabs are provided within middle third
d iR = H Fmior Side wen dR & ofieR weE S e &

4) All option are correct
ot g TEt €

Correct Answer: All option are correct
i RFa odi &

Candidate Answer: [ NOT ANSWERED ]

QID : 770 - An excess of flaky particles in concrete aggregates

B T # oy WRaeR FUl &l 81

Options:
1) decreases the workability
fferen g2 @l &

2) increases the quantity of water and sand
Ol 3R ¥ & AT g S &

3) affects the durability of concrete

; i & o SR

4) All option are correct

ot Rrren o1 &

Correct Answer: All option are correct
Tt g ogt €

Candidate Answer: All option are correct

ooft Rirer ot &

QID : 771 - For the construction of cement concrete dams, the maximum permissible size of the aggregates is

iz Sehte g & Fmfor & o, o= @ sifeon wier SR &
Options:

1) 40 mm

2) 50 mm

3) 60 mm

4) 70 mm
Correct Answer: 40 mm
Candidate Answer: [ NOT ANSWERED |

QID : 772 - For given workability the grade requiring the ieast amount of water is one that gives

R 7 Frdemar & e o e R 559 @ &8 url B s gidi 95 gl &, o k@
Options:
1) greatest surface area for the given cement and aggregates
fou g iz afv ageam & g wed adt wae
2) least surface area for the given cement and aggregates
fw o iz ot agea & Ay o9 @ 8 9o 3
3) least weight for the given cement and aggregates
f&w mu =iz ok e & g &0 aoe
4) None of these
e e

Correct Answer: greatesi surface area for the given cement and aggregates
fog g e ofk TETn & oy gad &l aag 8

Candidate Answer: [ NOT ANSWERED |

QID : 773 - The type of aggregates of same nominal size, which contains less voids when compacted are

FH A HIFR = W= F U, G wirdee g ® w0 e g g
Options:

1) rounded spherical

TR

ad

2) irregular
3) flaky

L LG AL
4) None of these
g
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Correct Answer: rounded spherical
TR gt

Candidate Answer: flaky
LG AL

QID : 774 - For quality control of Portland cement the test essentially done is

diéets die & o e & o sifFard wu 8 e man odeor §
Options:

1) setting time

THY TE &l

2) soundness

el

3) tensile strength

o1 dlehd

4) All option are correct

ot Rrgren o &

Correct Answer: All option are correct
Tt g wet &

Candidate Answer: soundness

gl

QID : 775 - Pick up the correct statement from the following

o1 & ot e o ggaE A

Options:
1) The percentage of voids in the aggregate after proper compaction is called the angularity number
THfREIT Y & A1E el H ek W S UTRTd STk ST gl Sl &
2) Angular aggregate are superior to rounded aggregate
e Tt TR g
3) The surface texture depends upon the hardness, grain size, free structure and the structure of the rock
TAE TIEE HARAT, HATS HTHIR, Teb TG IR UeeR &l TR R R e g
4) All option are correct
ooft e g &

Correct Answer: All option are correct
ofi Rreu Tl &

Candidate Answer: [ NOT ANSWERED |

QID : 776 - No shrinkage occurs if the concrete is placed in a relative humidity of

I TerreT T g 8, At dhebie o amter amdan (gRifRdY) F o &
Options:

N1

2) 0.85

307

405

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED |

QID : 777 - Argillaceous materials are those:

IRfeetiEmg gl ag et €

Options:

1) which have alumina as the main constituent
Sl T 9T & FUH UEgfA g

2) which have lime as the main constituent

S e 9T F FUH g R

3) which evolve heat on the addition of water
e & e T d

4) which easily break when hammered lightly

BUTET T U 1 S ¥ g S
Correct Answer: which have alumina as the main constituent
il TREn 9T & FU A Uefien

Candidate Answer: [ NOT ANSWERED |

QID : 778 - Spot the odd statement:

ZH & F FHu Y ugEE Fe
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Options:
Rﬂr_ounded aggregate

e
2) irregular or partly rounded aggregate
sifFrafia o srifes Fu & et gob

3) angular flaky aggregate

Hofig WRagR Fe

4) single-size aggregate

TR T

Correct Answer: single-size aggregate
Uahel-HTHR T

Candidate Answer: [ NOT ANSWERED |

QID : 779 - If d and n are the effective depth and depth of the neutral axis respectively of a singly reinforced beam, the lever arm of the beam, is

o d 3R n U e vEferd diF & AL ey Hat R TERTE iR e § A dm e fiR aiE §
Options:

1)d

2n

3) d+n/3

4) d n/3
Correct Answer: d- n/3
Candidate Answer: d-n/3

QID : 780 - Pick up the incorrect statement from the following. The intensity of horizontal shear stress at the elemental part of a beam section, is directly proportional
to

Pt & e aerum gerd dim @ & et v A S sel ara & dierar @1e 39 sngofaes gl

Options:
1) shear force
Bipticr|

2) area of the section

SFTHTT I &I

3) distance of the C.G. of the area from its neutral axis

CG &1 g & & deey &l §

4) moment of the beam section about its neutral axis
TRy & & AR H i IgH o &

Correct Answer: moment of the beam section about its neutral axis
FEEhT Tey 381 & AR H diH SHPT & &

Candidate Answer: [ NOT ANSWERED |

QID : 781 - If the average bending stressis 6 kg/cm2 for M 150 grade concrete, the length of embedment of a bar of diameter d according to 1.S. 456 specifications is

afy offra 7a &1 I M 150 B2 dfie & Riw 6 kg/em? 2, 3 1S 456 RREarsii & o R =g d & Uss ar & s 6t sfard 2

Options:
1)28d

2)38d
3)48d

4 58d
Correct Answer: 58 d
Candidate Answer: 38 d

QID : 782 - A singly reinforced concrete beam of 25 cm width and 70 cm effective depth is provided with 18.75 cm? steel. If the modular ratio (m) is 15, the depth of
the neutral axis, is

U Uehe afora St & Evgeht 25 St B dier of 70 FEieR werel meRrd &1 18.75 em? Wit & g1y wer TR Sian & aft Sieger orutd (m) 15 &, 9t dewy o Y e

Options:
1) 20 cm

2) 25 cm
3)30cm

4) 35 cm
Correct Answer: 30 cm
Candidate Answer: [ NOT ANSWERED |
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QID : 783 - If the neutral axis of a T-beam is below the slab, the relationship between the flange width B, depth of neutral axis n, thickness of the slab dg, effective

depth of the beam d, gross area of tensile steel A; and the modular ratio m may be stated as

o &-drA i qey et W & A 2, df T =S B, aeRy 381 Y M n, W S AT g, e S arelt meRiE d, aRae S5 A S Hehe & iR Aieer & i gay sEurd m

I FHET T THAT &

Options:

1) Bds (n- ds/2)=mAt(d+n)

2) Bds (n+ ds/2)=mAt(d - n)
3) Bdg (n- dg/2)=mAt(d - n)
4) None of these

Correct Answer: Bd, (n- dg/2)=mAt(d - n)
Candidate Answer: [ NOT ANSWERED |

QID : 784 - In a simply supported slab, alternate bars are curtailed at

U 1t iy gu Wi ¥, donfetie Tedl i 39 OX & o e e @
Options:

1) 1/41 of the span

It F11/4

2) 1/5™ of the span
afy &1 1/5
3) 1/6M of the span
@R FH 1/6

4) 1/7™ of the span
T &1 1/7-31

Correct Answer: 1/71 of the span
T 1 1/7-at

Candidate Answer: 1/7'" of the span
o &1 1/7-at

QID : 785 - In a slab, the pitch of the main reinforcement should not exceed its effective depth

e, T gdiaur & e oru werdt e @ oiftves Al B iy
Options:
1) three times

T

2) four times

R

3) five times

i A

4) two times

g

Correct Answer: three times

CEkicl

Candidate Answer: [ NOT ANSWERED |

QID : 786 - In a combined footing if shear stress exceeds 5 kg/cm? , the nominal stirrups provided are

T A 5 kg/em? & 31Tl g1 TR T B H, var & Wi areft A R &
Options:

1) 6legged

6w

2) 8legged

8

3) 10 legged

10w

4) 12 legged

12®R

Correct Answer: 12 legged
126

Candidate Answer: 1% legged
12%®

QID : 787 - To ensure that the hogging bending moment at two points of suspension of a pile of length L equals the sagging moment at its center, the distance of the

points of suspension from either end is

T8 gAY 7t & Forg R e L & 2% & Pretert 35 2) Rigall o gt gt o avor, 3 3 3 4R o & v e 2, 2t et oft oty @ et & Rig 1281 2
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Options:
1) 0.107 L

2)0.207 L
3)0.307L

4) 0.407 L
Correct Answer: 0.207 L
Candidate Answer: | NOT ANSWERED |

QID : 788 - To have pressure wholly compressive under the base of a retaining wall if width b, the resultant of the weight of the wall and the pressure exerted by the
retained, earth should have eccentricity not more than

U $faR F1Y T & YR W 9 e § 79 @wH & e afy 9erE b, §er & ae & uRkermesey ok W@ gY g1 g1 S S, A et 6 ue R s onfdes Ad gt anfge

Options:
1) b/3

2) b/4
3) b/5

4) b/6
Correct Answer: b/6
Candidate Answer: b/6

QID : 789 - The ratio of the length and diameter of a simply supported uniform circular beam which experiences maximum bending stress equal to tensile stress due
to same load at its mid span is

T T ] RO S Y T ol ST o o, S Hed Srafy # 9l o & IROT aRaeT G o SRTeR AR Fehe e ol e ST §

Options:
1)1/8

2)1/4
3)1/2

41/3
Correct Answer: 1/2
Candidate Answer: [ NOT ANSWERED |

QID : 790 - The ratio of the deflections of the free end of a cantilever due to an isolated load at 1/3rd and 2/3rd of the span is

1/ 3rd 3R 2 / 3rd & 3id # gueh ¥R & RO Sehe 3 Heheid & [au0T & SuTa

Options:
1)1/7

3)3/7

4) 2/5
Correct Answer: 2/7
Candidate Answer: [ NOT ANSWERED |

QID : 791 - A compound bar consists of two bars of equal length. Steel bar cross-section is 3500 mm? and that of brass bar is 3000 mmZ2. These are subjectedto a
compressive load 100,000 N. If Ep=0.2 MN/mm? and Ep=0.1 MN/mm?, the stresses developed are

e it AR & gar ot & @) AR 813 81 el IR sig-89E 3500 mm? @ 8k 51 aR 3000 mm? &1 & ge Ygia Wi 100,000 N & i &1 af By = 0.2 MN / mm2 3R Ey, =
0.1 MN / mm?, it Rl g e v &

Options:

1) 6,=10 N/mm?, ;=20 N/mm?

2) 0,=8 N/mm?, 6,=16 N/mm?

3) g,=6 N/mm? 6,=12 N/mm?

4) 6,=5 N/mm?, 65=10 N/mm?
Correct Answer: 6,=10 N/mm?, 6,=20 N/mm?
Candidate Answer: [ NOT ANSWERED |

QID : 792 - The radius of gyration of rectangular section (depth D, width B) from a centroidal axis parallel to the width is

HATHR EE (Te2E D, 912 B) & 912w § Us dgaed He gamiaY 8 e B §
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Options:
1) b/2

2) D/V3
3) D/(2v3)

4) D/(4v3)
Correct Answer: D/(2v3)
Candidate Answer: | NOT ANSWERED |

QID:793-

For determining the force in AB of the truss shown
in the figure below by method of sections, the
saction is made to pass through AB,AD and
EDand the moments are taken about

ATl BT fafdl gr e fRim el # R ew &
ABF ga @ R e & g, 4B, AD 3R

ERREEERe ) EGAE 2 A IR B R G AT R G

Options:
1) joint C
Sifge C
2) joint B
sz B
3) joint D
Sifgz D
4) joint A
Sifge A
Correct Answer: joint D
Sitgz D

Candidate Answer: [ NOT ANSWERED |

QID:794 -

The force in CD of the truss shown in the figure

T fEEneEH se oD ATy Sl a8
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Options:

1) 3t compression

3t Tdtg=

2) 3ttension

3t aA 1T

3) zero

SIS

4) 1.5t compression
1.5t It

Correct Answer: zero
=

Candidate Answer: [ NOT ANSWERED ]

QID : 795 - A shaft rotating N.R.M. under a torque T, transmits a power of

T e guT N.R.M | U 21 & & a8, Ta s S ohean &

Options:

1) TnN/30 Newton meters/sec
TriN/30 =g Hiez /sec

2) TriN/30 Newton meters/min
TriN/30 =g Aex /min

3) TiN/60 Newton meters/min
TriN/60 =g Hiex /min

4) TniN/60 Newton meters/sec
TriiN/60 =g Firex /sec

Correct Answer: TrtN/30 Newton meters/sec
TriN/30 =g Hiex /sec

Candidate Answer: [ NOT ANSWERED |

QID : 796 - The greatest load which a spring can carry without getting permanently distorted is called

Tard g1 drg o v w0 & g g1 & e f8i gri o s geha §, 99 e A g

Options:
1) stiffness
TSR

2) proof resilience
Teg wtena
3) proof stress

0 T

4) proof load

I R

Correct Answer: proof load

I I

Candidate Answer: [ NOT ANSWERED |
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QID : 797 - In case of a simply supported | — section beam of span L and loaded with a central load W, the length of elasto-plastic zone of the plastic hinge is

@ L w1 aAfdfa -emam i & amer # ofi Sl wire WS e o v s &, wnfRees fier & st weniRees & i de

Options:
1) L/2

2 L/3
3 1/4

4) L/5
Correct Answer: L/5
Candidate Answer: L/2

QID : 798 - The horizontal thrust on the ends of a two-hinged semicircular arch of radius R carrying

Bran R & oI aret gHEE aet Hieder o F sk mafosiag & S §

Options:

1)pa uniformly distributed load w per unit run over its right half spanis (2/3)* (wR/m)

U GAF w0 g et ar ufd see gem @ gifgn snenae & (2/3) * (wR /1)

2) a uniformly distributed load w per unit run over its entire span is (4/3)* (WR/m)

THE A FI Y GaRa yR iR seE g R WE § w (4/3) * (WR /)

3) adistributed load varying from zero at the left end to w per unit horizontal run at the right end, is (2/3)* (wR/m)
¥ 7 § o RaRa W o gt @ ofd gfie e &, (2/3) * (WR /1)

4) All option are correct

ot Rrgren o &

Correct Answer: All option are correct
Tt foerea Tet €

Candidate Answer: [ NOT ANSWERED |
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QID : 799 - I a three-hinged parabolic arch, (span|, rise h) is carrying a uniformly distributed load w/unit length over the entire span,

o, fi=-fis gor dwaifere o, (FF 1, 7ga h) T TR w om wu § FaRa R w / gite dard dar g oy,

Options:

1) horizontal thrust is (wl%)/8h

diftret S (wi2) /8h &

2) Shear Force will be zero throughout

fRreR i @ w7 & <R g g smeen

3) Bending Moment will be zero throughout

A U R A 7 §1 Sy
4) All option are correct
e g8 &

Correct Answer: All option are correct

Toft ey ot &
Candidate Answer: [ NOT ANSWERED |
QID : 800 - The equivalent length of a column of length L having both the end fixed is

L #9TE & Uk shiety ot sRTe o forgeh) g1 f ola R §

Options:
1) 2L

2L
3)L/2

4) L/v2
Correct Answer: L/2
Candidate Answer: 2L
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